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Use Blue or Black ink to write and underline and pencil to draw diagrams.

B3 TY, TEFOIO AT QGRANTRY, LINRORT.

This question paper contains three sections.

dgen— I/ SECTION -1

(@osnsd : 15)/ (Marks : 15)

(i) o 15 TIRG, WIOR. 15x1=15

(i) ROCIPT YITJT, BITLTY &Ry BORNYOT SOR.

(i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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1. a9 -wmoons RDETOOT WILDEH 2.2), BeeNR, sDCTRCLCTTOONT
ReTEREING gesé%ae‘b%oﬁae FO0LOWONT.
(90, Weemw, o, BU)

In persons suffering from insulin - dependent diabetes, the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. IR ADAR TodRT R[BRTO OF
(4o Fnedodee, DPT, DPT 32 &.0e° Hredodee, BCG)

The first vaccine injected into a just born baby is

(Oral polio, DPT, DPT and Oral polio, BCG)

3.  Cwenddeedd B8 BOWORAT ©OZiAREE NOR
(@UOOSSCZ, Z;%ZDN"'S, VRTST, LACHS?)
The endocrine gland related to the immune system is

(Thyroid, Thymus, Adrenal, Pineal)

4. ey JeTW, LeOTROI YVRT IOTT 0T Key TICW CIPPTT IROT BRTLTIS ?
([ZT0P, SouHer, R BRLTTT, WeT0RT)

If a water soaked seed is pressed, a small drop of water comes out through the

(Stomata, Lenticel, Micropyle, Radicle)

5.

(2@ SﬂS@F DB WO 5633&%, DT aﬁs@F D) AT %3%3, WO 593%5’.\ B mj mzfgp
O3T0¥, OB HIYB W) WTIF.)

QRO° B IWF FOWRWTT.

Mitral valve is found between

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery, Left ventricle and aorta)
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BR[RcERTRTY BeeRBMoN (ACOT LeNIN) TBEIRPORTT DJeRD0T 3TN :
(0RRLO03T, WYFOTRICT L3eTONTD, FeTOWT L3N, TFAF e3eTONW)

In monotropa the special type of root which absorbs nourishment is the

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

IYTY TOMTTONTOE Tome  SCTTD wmc;js-‘mfaiool 85 WIZOD QLHILOT
TRTINODSOMOR)TR.

(FRPNT W, QBeoD WP, I 3eoD WY, WO 238I)
The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

BYT AXDNTHY TN BNONTRIL GOTCIRENTE LAONY W3Fo
(8eDODO-BET", BERT -JWRET, BWRLHT -JERRT)
The mixture of gases used by deep-sea divers is

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

VAT SRTY DZENT® T, FRIOTY B A
(SR3T &), tRREOT U, AT ©IR)
Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid, Tartaric acid, Citric acid)

PP TOFONT FOOINING WNJF FTEITIONTOB WOTD TWROWAS mo&n
Redd.

(143e moozD, 153 oD, 163¢ THOTR)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.

(14t group, 15t group, 16™ group)
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11.

12.

13.

14.

15.

IV' CAREERINDIA

TI(GRET)IOT BT, 1T LI ), WBOIRENZTIT.
(DTTOS®, OTZCNT &)

is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

98 z%%é IWnY RBNI w®§msaﬁ@é§o‘i BYOINT TFIRE STTDEIITTNET.
(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

STPeN TOWIOIT WTORTHOD BT ATOME 503 TOTI0e0w)
(m@swg&s, SerteegRF, WO, LIR)
The physical quantity which is equal to the rate of change of momentum is

(displacement, acceleration, force, impulse)

33R0m0tF MoE3o3N RIOTBONT.
(RP=00=T, @mése mmqssr, é)z:’)oéaezswi, @mézsos)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

2,00 SRB [OTIT WAHVT AW Tomy) YT AWILR YVOLD TRWETT.
(52088¢3, 03POET WO, FeOT LW Tox)
An electric current through a metallic conductor produces around it.

(magnetic field, mechanical force, induced current)
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Qgen — II / SECTION - II
(®o3nsd : 40) / (Marks : 40)

BRWN 1 SRYTTSR VTI @5@,&71@534 YOBOR. 20x2=40
Note : Answer any twenty questions :
16.  ©TOHOD TN ANG TPBRTY T 0.0T¢ TReTTY QYT NS,

17.

18.

19.

39N BOTPFNYY BOMWIT DYIIZNT, THOA.
() BOIIT 3FI R Ve, I, FOW, TAT YTLHOTPN DPJETNNTH. B,
@a‘ss&é DOTH  FBOIZT.
() B DT SIDY TOT VIYTRFOW wOTE SNWRDY. AT,
é)afmolé DOTH FCINTT.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.

(i)  The eye colour among the human beings are varied as blue, black, brown, green
etc. This is called as variation.

(i) The dentition in the rabbit and the elephant are not the same. This is called as
variation.

23T ROWVONDOTY 0TI ?

What is Genetic Engineering ?

BRZODI), MY FTNTZYNYDY, BRODA WIOWD :

(BRQ, 30T, BT £20 BN, GUTOTI0N, TTWONT STRN)
i) o238 (i) QRMFAD

(i) 2T S (iv) ©zvonned

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i)  Vaccine, (i) Natural gas,

(i) Citric acid, (iv) Vitamins

DTFF W) FYRORCFFT Teennsd Tpewesd IRTI0H IRIINWD. IDTY
QRRBRWZYTD DT BRI DATRLWZYTOY FRCIREFFTROT DTIF QPFFONTIIT.
20eIT Brennont dweent wFened BoodmNBohe 7 AYRTT, BOB|RRO.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it.

[ Turn over
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20.

21.

22.

23.
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WIT, DT W, ARBING FTIODNOT LRANTI), MITSR.
Copy the diagram and label the parts with the help of the clues given :

) sy, BT BT 0P PO ITOITB.

(

(i) ©SRPCRCTIT DY TLIFARET D0 DTW TOVRCFRNTI), A FRATT.
(@) It is otherwise called supra renal gland.

(i) It secretes two hormones, namely aldosterone and cortisone.

33D, DI B3R, S IINT GRARTRDY, OBEL :

(i) g (i) ¥ Bezdeor
Draw the given diagram and label the following parts.
(i) Exine (i) Tube nucleus

uo&%ﬂ@é@ BOTDWTR, ATO0T DTLMRTYODR I 2,083030 05323%%035@7\ 22eVRLIQTINTOI
03507 BT T, &raomsé%m#mol 3300.

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

o ZeST TWRIY, BT SR0WO.

i) RReends, REeRtor’, HRJRCHT, BLHNT
(i) 23T eIND, BTG FeOWT PO, WY IR, WeS
Pick out the odd one out.

@) globulin, glomerulus, fibrinogen, albumin

(i) mountain goat, big horned sheep, grizzly bear, seal
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24, BYNT TLYODI, TREFTIRPRO :

QRWETIOON BRTT[ORT THRD SRTE T m%@ﬁ@o

RORIB Dk e:\)gs&mfo -

DRBRITTOONNLDL RE, ORO0IP, OINOF S, oI
RNOZVT)
FRERCS dRwEF MO | _
s rov o CIALIESNOVEICH] msﬁg)

Complete the table given below :

Excretory organ Disposed as Excretory products
. . Nitrogenous waste products -
Kidneys Urine ] . o
Urea, Uric acid, Creatinine etc.
Lungs Exhaled/Expired air [~
Skin | . Excess water and salts

25. 8ITI, DeR -
() 330Q 3ec0aT A BH B HY Boseh DR, BTOR.
(i) 35 OO TOYLFS IOV NEB BIFFN0Z Bt YN ?

Observe the diagram.
(i) Mention the type of movements shown in figure A and B.
(i) How does this movement differ from the movement of mimosa ?

[ Turn over



6833

26.

27.

28.

29.

IV' CAREERINDIA

RZVOID SERETOS SN VOBWIF SRS,

(i) edT TEIoHODHY BPH VFT 300ID IWOINSTI 2
(i) o35 M%‘%é@a ReANE ABTY FONTLITS ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?

(i) Which micro - organism is involved ?

INITR, BRODLD :
A B

(a) ©RRZPLEIF (i) 39w
(b) oeBReEOF (i)  Swe
() ORDBREDT (i) AR
(d) BBoSP (iv) =gnsd
Match the following :

A B
(@) Ammonotelic (i)  annelids
(b) Ureotelic (i) fish
(c)  Uricotelic (iii) mammal
(d) Nephridia (iv) birds

BINT WeANTR, FOOIRT LREXFTIATHY ERCBTRTOOT 20T STOT ATTYODZ),

Te3R0.

(TR, By, BXy 8, WEI)

Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

HOMRESEONY  OTOIRENTT VT, TH ﬁéas DAONS SRR ?

mmﬁ)

(O30T

What are the various liquid biofuels for transportation ? (Any four)
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nraimd TNCBOR TR msg STNCBORCONT somméomm& BRODD.

ROBIROMD A B C
STRETORF)TO FOTED [P T Bedeedodo
TNEBTORCTONT BORIT 5@7\?3 A® AT

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal Wind Petroleum
Non - Renewable Hydrogen Natural gas Solar energy

903 @%3036 TRENYNRL HOT HRODY TRYVL JANE z%éb% gwécmé QTFINOWOT
TOINPIOD BOPITE CHTVRAWTH.  CIVYTITTR DTE TFOWPE YOPINTIY,
BTOA.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago. Name any two fossil fuels.

ERAONT BON DOTTE ?

What is Brownian movement ?

20 M0 ®OGRTE VI 50 MO VEOIY ITNIOWMRTN. & TRROT TOTTOD 3LTT
3eTBRI), TORWE0ROWO.

Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

12.046 X 107 20T BIBPNYY Bperny F0LB00, 7 080,
Calculate the number of moles in 12.046 X 10?2 atoms of copper.

‘A DB Q0w HTW ejzgri@émel 2eBOTY ABOONT. ‘A’ & Qe0TY  oNn3s
@o&@e%ﬁmg@m. 3T B’ &3 Je0IY BOTREF DO3RCRINRDFRI.

(i)« AT B ‘B SPNYY CRJD IRO G5 TN OIRIY TO &) ?

(i) AXO ST W) T SRR OTROTN LVTOTTE 8RB.

Two acids “A” and ‘B’ were kept in beakers. Acid “A’” undergoes partial dissociation in
water, whereas acid ‘B’ undergoes complete dissociation in water.

(i)  Of the two acids “A” and “‘B’. Which is weak acid and which is strong acid ?

(i) Give one example for weak acid and strong acid.

6833
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36.

37.

38.

39.
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RITODTI, SO WTOWO :

(i) TIPS SRR : HCI, HNO,, H,S0,, HCOOH

(i) TBIOR ™o : TF, e3ecNRB/ ARCB, IJINT’, T[T WIYEOD WL
Pick the odd one out :

(i)  Inorganic acids : HCI, HNO,, H,SO,, HCOOH

(i) Basic Nature : Blood, Baking Soda, Vinegar, Household ammonia

39800 TeYINYY 0IpYTTTR BLTT FOTRA.
() DTBIe BHTEY 8 BTTF. YBOY DO AT TWROTINY.
(i) 700 18 DROTRNYR TIERBT B0 DOT TIL.

Correct the mistakes, if any in the following statement.
(i)  Second period is a short period. It contains only two elements.

(i) Group 18 elements are called Halogen family.

BT : TIT TINY e TAT TWT SRCDPYT.  DIOTT LTI, a%made
Relevbviatelelnl

FTED : &S50 T TR ICLF TWT YVOWMIRYTOOT.

() BVITTI B TTLN BOINS WY LOTWIROW ATOLFTONS.
(b) BT B, STY, TTY BETOTIR, FROBTZONG.

Assertion : A greenish layer appears on copper vessels, if left uncleaned.
Reason : Itis due to the formation of a layer of basic copper carbonate.
(a) Assertion and reason are correct and relevant to each other.

(b)  Assertion is true but reason is not relevant to the assertion.

2,070 TOWONT/ BOCINT (A) DJeTeON YT TONNTR, TBHBOZ BOTFFTOTOTTRN
NTO3RNIFOTWRT 2WE, C,H,0, 0w WERARTNR. 3 FO0IWT IPIOZLTS
BE3OD BROOTON ATTNT WRTOINY, BOOINE (B) TRLITOMIYT.

(i) A B B BOONINTR, MOTDER.

(i)  DPIBVIZ, THOR Y WTOTEIIVT TOAOODAT FUCFTED LTAND.

An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C,H,O,. This compound reacts with ethanol to form a sweet smelling
compound (B).

(i) Identify the compounds A and B.

(i) Name the process and write the corresponding chemical equation.
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e (A): WY e TOTEEIIW, LA TRETDPYTOOT 0T JOETT LFOONNTT,
T0&eIHLD MRICID SOTOIRENTOTZT.

RO (R) @ WBY 36T 5003FeIW, WIARNY BIHT TSP TSWONRTIY,
TTBODTTD.

(a) (A)ROCIPNY T3y (R) ROOIHAT.

(b) (A) 00PN I3y (R) TOOIHNY.

(©  (A) (R) TER FOOIRAY.

(d)  (A)ROCIPNT T (R) 20T (A) B, SHERONIT.

Assertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

Reason (R) : By use of very intense magnetic field, very high resolution images can
be obtained.

(@) (A) is incorrect and (R) is correct.
(b)  (A) is correct and (R) is incorrect.
() Both (A) and (R) are incorrect.

(d) (A) is correct and (R) supports (A).

1kg TH00O0I0E 2.0 TRV, 20 m FZTLOT VYATON, W JOF BRBED BT
BRTY DL WTT. DMWY, SHeN BOBIROTYT WTIOTHODT, FOWLROND.

(g = 10 m/s? Q0T éﬁdb%@@%@)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum

(Take g = 10 m/s?)

[ Turn over
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42. TROOA WTOWO :
T zode3nsd
(a) |0 QWE® B3 (@)
b) 3eD8R WP FeAOR (i 5
i -
(0x03)
(c) [Bre@mo 808 (i) — MMWW——
(d) |ecom> BeBeems R (v) | —(o)—
Match the following :
COMPONENTS SYMBOLS
(@) |An electric cell (1)
(b) |Plug key (or) switch (closed) | (ii) +i —
(c) |A wirejoint (iid) — AM——
(d) |A resistor of resistance R (iv) —(o)—

BO QWIT P : 3FOD TWOTHIONT TRVITT FPTTE

43. 2099 WNNTD, POFBDA.
() NPT : Fped DT ©TI amégma :
(i)
Fill in the blanks :

@
(i)

Potential difference : Voltmeter ; then Current :

IV' CAREERINDIA

Hydro power plant : Conventional source of energy ; then Solar energy :
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45.

46.

47.
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TONJ em% JEOD W LTOWD.
-0 n

Write about ocean thermal energy.

39 SpcOATOT! Teadw WIBIY, 2O AW, ONTR) WO JWIT WOWBIIZ)Y, TJert
DTERAIT D0LOTI), EREOTLV TOWOWZLONT.

(a) BT, W3R DT BOCIPT Teagw WIT/I, LTWO.
(b) QT STWHRINYR T IWO.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b)  Write the justifications for your corrections.
M
C\ F\> p

N

RO &J@ﬁé zsosmaab& FRDBA.

o ed

Define Fleming’s right hand rule.

BO03ezT CNTT BROLRNRTY 25 F0.20¢. TWRTHY 2.0 BATABONT, TN 0B/
&OWHONY 20 Fo.s0e. TWRTTY BJEROWBW,0LD VPEIT. TOMOBT 0[BT FON
BRTRR, ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

6833
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Qgen — III/SECTION - III
(203n%d : 20) / (Marks : 20)

ii) Each question carries five marks.

AW () T PNOOT 20T, SO CIRVPYTRW3L TR, JJNTI, YOIOA. 4x5=20
(i) TS T30 W LOIRIT), BROVT.
(i) ©nS0NFY 8B, 2BCWO.
Note : (i) Answer any four questions by choosing one question from each part.
(i
(i

iii) Draw diagrams wherever necessary.

5onR-1/PART - I

48. ), FYTQ WSe00IR ORGSO TORERORT.
(a) Ao TOR SN, TOMEI2 FOF) J0NOTED VOINET), EYR0.
(b) SDSeOIHT TRENVTLNT, 2TOWO.

There is a widespread outbreak of malaria in your area.
(a) Suggest some controlling measures to the local authorities concerned.

(b)  Write the symptoms for malaria.

49. (a) By JINEI, WTBCIRENIEROW FINT HET OBV, TRSFIRTR0.
(33> FOLS, e0TTENCLT”, WTPFTVOIF, HRT, DTS BT, WTOELT)
000D ITTHORLP) TR TTFEIZE TADINTRY, BRODITT. T, L.LTTCIPN
(1) om@ed.  (2) WP T 39 Qs BRT Rt SN0 HIETE,
OTTNTHZT Tone By, (3) o Zeet. deto &¢ NBYIEE BRHE0I

Do Fhmen BAYCIPAZY, A @) =3 ) o e Hed 7
3002 agdmﬂd fsRIAND) facssaol @mged.

(b) ST BeSBREBAE CIPPYTIVTIR 0T JFTNTI, TAOR.

(a) Use words from the given list to complete the following paragraph.

(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively
called (1) . The outermost cover lying below theskulland _ (2)  isdouble
thick and is called ~ (3) . The middle covering is thin and vascularised and is

called  (4) . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called

®)
(b)  Name any 5 types of nerve cells.
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@on-1I/PART - II

QEY VewT TWI0DZ, TR WTW ATORTRHOOT DWOR.

Describe the structure of a dicot seed with a neat diagram.

a

b
a

)
)
)
b)

(
(
(
(

DATY TOTOONT mg DOTTER 9

BATH TRFRODTTOIT FHODOWOT YOO 30T YOI AT, WICWO.
What is Green Chemistry ?

Write the future products of Green Chemistry.

on-III/PART - III

BT TTWIVEWD NmoéQ’) 3TON NN, ©WAYT 3T D) 2363 98eedT BOWLBOINDE
QRNPOT DTV wﬁ 20T T 0TS YVOWITDIT.  BTVF TORPEODIT %@poédcg
BA30D e OB/, @@N

Modern atomic theory takes up the wave concept, principle of uncertainty and other

latest discoveries to give a clear cut picture about anatom. State the findings of modern
atomic theory.

THFOWOWOT AFTOS® BOIWOFODT, DTOR.

Explain the manufacturing of Ethanol from Molasses.

n-IV/PART - IV

SREIFT BeTO[e BOTD J0DWY WOT TV IVFBIONT, TRWTT.
WA

28385y 10kg 3,15 kg BRIV 20T BT, RRWHIB. ©F 330N
10ms—15333 5ms~ 1 Q02 33083 BeNBRBS BOMES. ©:y TOTT ROTFHF AT
F03T ©y) Fowon 4ms™1 B Ims 1 2020 BeRRIRRES 3OWIBB. FoFHEWOD
0P 2s 8BS F; R F, 1, Sgmes.

- <«
m/s @ 4 m/s E

10 m/s

[ Turn over
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(@) Newton’s first law of motion gives a qualitative definition of force. Justify.
(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms ~! and 5 ms ™ ! respectively. They collide with each other.

After collision, they move with velocities 4 ms~! and 9 ms ™! respectively. The
time of collision is 2 s. Now calculate F; and F,.

FiF
10m/s -

S5m/s 4m/s 9m/s
< (om) @) @ () -

55. QACReRAYRY, 394 w3 O[O, B BReINTE, Bei DmCH BRBEWIE ?

State and explain the defects of Vision. How can these defects be rectified ?

-00o0-



